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Math I Name

2-2 Practice 3

Arithmetic Sequences
e I can convert a sequence into a recursive or explicit formula.
e I can use a formula to find missing terms in a sequence.
e I can determine the common difference/ratio from a sequence.

Directions — Determine the desired term.

1. Which term of -14, -4, 6,...is 126?
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2. Whlch term of 23, 33, 43,...is 123?

123 =23 + (Do
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3. Which term of -38, -47, -56,...1s -245?
245 =38 + (n-N(-9)
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4. Which term of 4, 204, 404,...1s 38047
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5. Which term of -31, 169, 369,...is 25697
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6. Which term of26, 19,12,...is -30?
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7. Which term of 6, 36, 66,...is 276?"
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Directions — Find the missing terms of the following arithmetic sequences.

g -33,-S3 13 743 13

3+ =3

10.38, 90 , 1Y , 94 . Yo , 48 . 50
g€+ oA =SSP

e - 12
d=)

11. 21,726 =3] .36 ~[ 46
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12. .6, =14 | =22 —10 33

i) <3
{f =735
)
13.-1,935, 4P, 1415, 20 2523 2.5 3515y,

1+ &0 =4
g =4
)=5.25




Write out the first three terms of the following arithmetic sequences; then write an explicit and recursive

formula.
Explicit Recursive
14,  a=-34,d=53 a,\:';,“(f(/\ NS a=-24
a, =@, *3.73
34 LT 2

Find the indicated term in each arithmetic sequence:

i5. a, for-1,-7,-13,. ..
2 =l + (5D (-6)
a_-= =\ =24

16.  a, for25,73.1,121.2, ...

b, =25 + (1) @)
.25 +105&.2

Q)3 = IO&Z. 2

17. Find the average rate of change from x=2 tox=5
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18. Find the next three terms in the sequence below

(-76.2, ~98.9,~121.6, 94.3 -6 , —lgq,q}
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19. Given the recursive or explicit equation, find the first three terms in each sequence below

N {’1=98 ag 2 \36
t, =t _, +14
b. p, =184+ (n-1)(-30) [8(-{ , lSL( , I:ZLI
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20. Solve the following;:
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(al'i) 3x—7)=6>

A % +29 =12

B -1

5(x-35 20x-m =27 . . b
Sx#lS —lpy + [{ = Py T /
et f=1
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